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AR —KN/"T 4=y aRIR 0C / 5.3C AR —N/"T 4=y aRIR 12°C / 8.5C
F=1010
NEAT Ag=b =N EEHEE 14AH 2AKH & i Lv—X
No No K4 B 4 Be R OBE R B R AA2b
1 101 N1 FgJr 1:22.92 1:16.36 2:39.28 0.00
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
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F=1010
NEAT Ag=b =N EEHEE 14AH 2AKH & i Lv—X
No No K4 B 4 Be R OBE R B R AA2b
1 104 Sk DAED]Ir 1:07.22 1:01.75 2:08.97 0.00
2 103 (Ll —f= FgJr 1:01.16 1:56.59 2:57.75 382.01
DID NOT START [1st RUN] 1
102 NE 1L Jr
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
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No No K4 B 4 Be R OBE R B R AA2b
1 105 g 1&A DALY ]r 51.15 4759 1:38.74 0.00
2 106 M TFEZA JBs L Jr 1:05.88 1:00.75 2:06.63 285.28
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
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F=1010
NERE Ap=b =N EEHEE 1R 2A&AH & 7 1V—x
No No K4 B 4 1L L I 5| H%E fil A b
1 108 JEIL BE&E N ERT e 1:00.75 56.33 1:57.08 0.00
DID NOT START [1st RUN] 2
107 RS R 1L Jr
110 INFRIEE 1L Jr
DID NOT FINISH [1st RUN] 1
109 ER/INEL H iR Jr
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
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2B —F/T 4= 2R 0°C / 5.3°C AB—bF/T 4=y v a R 12°C / 8.5C
F=1010
NERE Ap=b =N EEHEE 1R 2A&AH & 7 1V—x
No No K4 B 4 1L L I 5| H%E fil A b
1 111 I BEK JBs L Jr 53.60 50.00 1:43.60 0.00
2 114 fraEe 2R VaY=1-liNps 1:01.16 5471 1:55.87 119.62
3 112 K Fs DAED]Ir 1:04.22 57.28 2:01.50 174.51
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 1
113 JERE A 1L e GATE No. 8
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
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No No K4 B 4 Be R OBE R B R AA2b
1 115 B BER AHA L—A]r 46.07 42.66 1:28.73 0.00
2 117 JE P DALY ]r 49.38 45.33 1:34.71 68.07
3 118 ER)H Y4 FgJr 52.95 48.61 1:41.56 146.04
DID NOT START [1st RUN] 1
116 RS R 1L Jr
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
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No No K4 B 4 Be R OBE R B R AA2b
1 124 PG =N JBs L Jr 47 .47 4455 1:32.02 0.00
2 119 = BBRA JBs L Jr 48.77 43.86 1:32.63 6.70
3120 Wy PR 46.82 49.69 1:36.51 49.28
4 122 BIE EX JBs L Jr 49.88 46.83 1:36.71 51.48
5 123 BTt JBs L Jr 51.06 45.98 1:37.04 55.10
6 121 DOEE BRI DALY ]r 52.12 48.30 1:40.42 92.20
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
2021-02-13 / JLEHE A X —1i5 G8/ 1

DATA PROCESSING by SE I KO

TIMING by SETKO



W3 AREIEY 2 =7 A —RERS

T
& R B T
e 5
F=1010
NEAT Ag= =N EEHEE 1K 2A&AH & 7 1—x
No No K4 Fr B 4 S <7 = N 157 N | = 155 D N GV N
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
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